Calculator portion Problems

AP Calculus AB Fall Exam Review WS #5
2,
The first éeri;iﬁ-frc ofa mﬁ}cﬁaﬁ fis given by Let fand g be d‘%ﬂ%{enﬁahle functions on the interval (3,5 such
s o cosx{2xsiny — cosx) i . .
Flx)=———F3— Ontheinterval 0 <x <8, how many that p'{x} = Ax)ln{x— 3}, and f{x) > 0 for &ll x > 3. Which of the
relative maxima does the function fhave? following must be trus?
A0 A glx) has s relative minimum at x= 4.
B.1 B. zix} hes = relative maximum st x = 3.
C.2 Fon . . o . .
b3 C. gix} has a relative minimram st = = 4 end a relative maximum at
E 4 x=3.
. g{x) has no relative minimum or maximum.
E. There is not encugh information to determing the relstive ex-
trema of glx).
4,
Let ﬂl“ 2 function that is differentizble on the open interval (8,5, I the hase of 2 triangle is fncreasing at a rate of 2 centimeters per min-
¥ A1)=2, Ai3)=—1,and f{4)=3, which of the following must ute, and its area remains constant, at what rate is the height changing?
be true?
A b—4dk
L For some valus 1 <e <0 4, flel=1. B _E
CE
1. The function { has st least three zeros on the interval {0,5]. c __:_'g:_
HL Forsome value 1 <e < 4, fle)=4. . 32
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A Tonly £ b
B.land 1l ‘9*
C. Tand I
B Hand 1H
E.I, Hand IR
6.
-t
Hfes# =0, then iﬁnuf is The side of 2 square is increasing 5t a constant rate of 0.2 centi-
o meters per second. In terms of the perimeter, P, of the sguare, what
A.D is the rate of change of the area of the square in square centimeters
T per second?
B. =
= A 08P
C.2 B.0.2P
D. 2 C.0.1P
E : . " 0. 0.01P
L. nonexistent
i E.004F

Hint: (& = b°) = (a - b)(a’ + ab + b?)
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7. The graphs &f the derivatives of functions f, g and k are shown

above. Which of the functions have 3 relstive minimum on the
interval —3 <2 < 37
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The graph of f, the derivative of f, is shown in the figure sbove. c
Which of the following could be the graph of 77 :
’ n\\‘__*__,,-—"'s.
9.
The graph of a twice-differentiable function f{is shown in the figure 1
above. Which of the following is true? 1 ff
A F(0) > £1(0) > A0) i , if
B. f[0)>£(0)>£(0) ‘i& jg
C. 7(0)>f*(0) > £'(0) IR AVE
D. f7(0) > f0) > f'{0) A I
E. £(0) > /(0) > £°(0) \ /1
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1. (Q
The first derivative of a function fis given by Let f and g be differentiable functions on the interval (3,0) such
f(x)= -c—eut—"m;—‘—g-“—) On the interval 0 < x < 8, how many that g'(x) = f{x)In{x —3), and f{x) > 0 for all x > 3. Which of the
" relative makima does the function fhave? following must be true?
A.0 i J‘\.‘,Lj’(.‘l) has a relative minimum at x = 4.
B.1 B. glx) has a relative maximum at x = 3.
2
EICJ::E C. g{x) has a relative minimum at ¥ = 4 and a relative maximum at
=73
E.4 T
2. g{x) has no relative minimum or maximum.
) E. There is not enough information to determine the relative ex-
v / \ f \, / \: trema of g{x). ﬂ‘(x,.g): 9 \ f
— A, - = 4 - ; “ /e “*
S 6)=86) e fn(%-3)  Voq ¢ —t—
1t Jx]=3(K)  pn log (x-3)=0 I M L
A ‘ u’ M " w '\) v
Han -1 0=fk) , 0=H(x-3) e=x-3
2 ‘
f6) 70 143=x
3. smosth Carve. i,
l‘?t fbe a function that is differentiable on t.hciopenjnterval (0,5). If the base of a triangle is increasing at a rate of 2 centimeters per min-
If f{1)=2, f{3)=—1, and j(4) =35, which of the following must ute, and its area rym.um constant, at what rate is the height changing?
be true? L£e)-¥0) 5-20 3
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@lnrmmL value 1 <c <4, f'(e)=1. ' B, — i\ [E - Lm/,,,,m
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XThc- function f has at least three zeros on the interval {0.5). néééﬁ“”J/ 0" 4
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If ¢ #0, then ]lm : is
A0

C. 2c
D. 2
E. nonexistent _
Hint: (@® = b°) = (a = b)(d’ + ab + b’)
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6.

The side of a square is increasing at a constant rate of 0.2 centi-
meters per second. In terms of the perimeter, F, of the square, what

is the rate of change of the area of the square in square centimeters

g - O& C""/g‘
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Find

S
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per second?

A. Q8P
B.0.2P

e

D.0.01P
E. 0.04P
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The graphs of ‘the derivatives of functions f, g and h are shown
above. Which of the functions have a relative minimum on the
interval -3 </ x < 37
A gonly
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The graph of f’, the derivative of f, is shown in the figure above C
Which of the following could be the graph of f7 h
9. .
The graph of a twice-differentiable function fis shown in the figure ‘{\(X) | |
above. Which of the following is true? |
|
A. f(0)>F(0)>A0) {: (é) / ) ; l ,’
B. /10)>£'(0) >°(0) 7o) = positie ol (positive s, ’l |
C. flo)> f (0) > £(0) £70)= mj,;;he value (concan dpn ll o~
D. £(0)> Al m £(0) A B
| {
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£ > £0)>F(0)




